2 3 4 5 6
+5V
L2 [6)
(8]
15 .
> 100 IC2G$2
3 E
o
o0 o
>
{ = +5V +36V > 9
= ® 3
y GND ‘ IS GND
2 S .=
T
74LVC1G3157DW g i
1 o ~B TIg = Ic1 ols| GNDGND
2 i1 [ ZHA 13 VREF1 o
™ 3 A 3 Ll JRepr 32 J2
- [0 i) > outis |2 L
2t I3 IC2G$1 ol & 200 101 out2s P 2
112 4 oS 17 1 3
..2_|z o 8 111 OUTIA 5 7
Jc 2 0} GND i, OUT2A =
p PHASE1
g 10l pHASE2
GND 3 Z 112 SENsSEL 22
102 cn
i i i i i i 4 re1 SENSE2
2 2 RC2 c2
& & GND
& & o[~[© E] L6219
GND S 1
J1 A +5V +36V GND <
1
Y =z
.—|2 o) } GND GND 3 3
E o m
SRz S GND S GND
J5R12 8 &
ot 2

ZAPDPD

Zaktad Automatyki Przemystowej Piotr Poteratal

P46a_2021-03-23

rev. 2021-03-23

18.05.2021 22:59

sheet: 1/1

5

|

6




